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Fillin these boxes and read what is printed below.

Full name of centre Town

Forename(s) Surname Number of seat

Date of birth
Day Month Year Scottish candidate number

Total marks - 50

Attempt ALL questions.

You must NOT use a calculator.

To earn full marks you must show your working in your answers.
State the units for your answer where appropriate.

Write your answers clearly in the spaces provided in this booklet. Additional space for answers is
provided at the end of this booklet. If you use this space you must clearly identify the question
number you are attempting.

Use blue or black ink.

Before leaving the examination room you must give this booklet to the Invigilator; if you do not,
you may lose all the marks for this paper.
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FORMULAE LIST

The roots of

Sine rule

Cosine rule

Area of a triangle
Volume of a sphere
Volume of a cone
Volume of a pyramid

Standard deviation

—b+./(b* —4ac)

ax’ +bx+c=0are x=

2a
a b %
sind sinB  sinC
b2+ _.2_ 2
a'=b"+c*—2bccos A or cos A= S
2bhc
A:%absinC
4.3
V—gTU
1.2
V =3 h
V:%Ah
[Z(x-7)
§ =
n—1
2
sz_(zx)
or s= n__ where i is the sample size.

n—1
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1. Calculate |d|, the magnitude of vector d :{—4]

|

2. Evaluate 5% —1=.

I

2
7

Total marks — 50
Attempt ALL questions
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3. Expand and simplify (6x~5)(x+3)+2x(4—x). 3

4. In the diagram shown below

PM is a tangent to the circle, centre O P
PN is a straight line
angle OPM is 14°.
14°
1€
. _ 9O
o
\'s . — K
- % =
\ O b 1 Go!
e 0 L m
—\/ou‘ 26
2%
N ;
160
Calculate the size of shaded angle ONM. — 1o 2
JE——
T

e

LONM= 46 52 = 3%
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5. The number of absentees at Applegrove High School was recorded each day
over a four-week period. o - )
Cah = N7
The results are shown below. 13 =7
7 8 8 11 12“-1' 14 14 15 17 17 l
18 20 20 21 23 T 24 25 26 27 29
. .. . i C..‘l’)'- i,l,j),—}
Find the semi-interquartile range of this data
B0 SRS
SIWiC = 2
_ 23.5-1V3
o
. 105 - g.25
G

6. The diagram below shows part of the graph of y = kx?.

v y=kx2
o=
0 X
(2,-12)
Find the value of %. " “j 2
= x> (2,-12)
i np
1
= X )
I i B ke« U
fe -3

o T,
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. Solve, algebraically, the system of equations

Sc+2d = 4 (X 3)
4c¢—-3d =17 (f';§

| 1S red =\
I
i (¢ - bd = (R ATEN
\\
\\\ o5 ¢ - LGk
K - X

C e, e 3
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8.

Determine the nature of the roots of the function f'(x)=x>+4x-7

i o

bt - ke C

= qg_*(_i%\y(—’-—?—\
= & -~ {=3%)

= Ll

T (ochs ac Real and dDishnck
Sne BbP-lac > O -

9. Express /50 +/45 —+/2 in its simplest form. 3
=JZs3 + VRS - (3

L 4
- Sy + 30(5 - J2

:L\Jﬁ--\*%f—é
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10. David works in a shop, and is paid weekly.

His wage is made up of a basic wage plus commission on his sales.

The graph shows his wage, J¥ pounds, against his sales, S pounds.

Wk

B

|

0

g
Point A represents sales of £6000 and a wage of £450.

Point B represents sales of £7200 and a wage of £510.

(a) Find the equation of the line in terms of # and S.

Give the equation in its simplest form.

L o B i p 8
(ccocy 450 )

(00, S16)

.
M = S ~ L350 ° =~ v+ €
T 27200 ~6000 L d &
ed lgfits = ’71:0"(6600 =
- '[106 _ 6@«5@‘ + C
Lo = ~ L
— |
- a0 bda = o G S
150 = -

J?:O-;: +\sSO

@ Lﬁ =

-

———
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10. (continued)

(b) Calculate David’s wage in a week when his sales are £1000.

R O
VJ~'QO Ve C ST 2 B

- 10D, (SO
e
= 50 +150

— é OO
11. Solve, algebraically, the inequation 1—(x +4) > 2x.
| - Gor &) 7 2>
] -> - L 7

- - K

X & = B |
LS e, |

L AR
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12. A band sold 2400 tickets for their gig in Edinburgh.
This was 75% of the number of tickets sold for their gig in Glasgow.

Calculate the number of tickets sold for their gig in Glasgow.
1S 7 = D> LoO

:QA()Q"TB:%QO

2.5 &
A 4 & o _ ¢ ke & BRI

13. The graph of y =acosx”+5b, 0 < x <360, is shown.

0 I 1 1
90 180 270 360

State the values of ¢ and 5.

Q/:Q b:g

N\
i N

!‘fﬂ«\-\.p‘\-\‘-«.x\&\) (Movede Ly )
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14. The diagram shows a hemisphere relative to the coordinate axes

A is the point (6,0, 0)

C is the midpoint of diameter OA
B is vertically below C

(a) State the coordinates of B.
( 3, ©, - ’5\

(b) Calculate the volume of the hemisphere.

Give your answer in its simplest form in terms of n.

N= ,Li—‘f('VB

Fo
W
_:__%%Tf)(% l-l&vu%m
]
" j,%?{—r(»zglq = 3T =2
_ 30 4 — 1% C
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15. Evaluate 162.

16. The function f(x)is defined by f(x)=4sin3x".
Evaluate /(90).

P(x} — b sn>x
L .
[ (qcy =L = s (3¢ 0)

N
o L § q,:fd)
= L ¥ S 270 i >
- L ¥ (-——I)
Sw2FO = - |
=, e Lb

N

e

T .

page 12




-

17. Sketch the graph of y =2(x—1)" +4.

On your sketch, show clearly the coordinates of the turning point and the
point of intersection with the y-axis.

3': 2> - l\} + L
I %

1. 0. (‘r Le )

C\@%%CS L\B—-CAK\S

PNANCE%N W =0,
3: QCO"(Y;%L*

= & C- \\9 y O
= L £ & b
Y
(016)
(IIL‘Q')
— > X

L ARV A0
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. The diagram below shows a design for a memory stick.

The design consists of a rectangle, RSTU and part of a circle, centre C.

12 mm

30 mm

length

memory
stick

20 mm

RS = UT =12 millimetres
RU = ST = 30 millimetres

The diameter of the circle is 20 millimetres
UT is a chord of the circle

Calculate the length of the memory stick.

L&«%N: 20 4+ & Y 1O
= L% Mo

AR A -

* X84 7750114 %
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19.

Solve the equation by factorising

6x2+13x-5=0
61 e \ﬁ]ﬁ + 53 =
/ L
By o=} =D o D 55 =1
—
A = 2~
_
XK = T i

[END OF QUESTION PAPER]
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Fill in these boxes and read what is printed below.

Full name of centre Town

Forename(s) Surname Number of seat

Date of birth
Day Month Year Scottish candidate number

Total marks — 60

Attempt ALL questions.

You may use a calculator.

To earn full marks you must show your working in your answers.
State the units for your answer where appropriate.

Write your answers clearly in the spaces provided in this booklet. Additional space for answers is
provided at the end of this booklet. If you use this space you must clearly identify the question
number you are attempting.

Use blue or black ink.

Before leaving the examination room you must give this booklet to the Invigilator; if you do not,
you may lose all the marks for this paper.
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FORMULAE LIST

The roots of

Sine rule

Cosine rule

Area of a triangle
Volume of a sphere
Volume of a cone
Volume of a pyramid

Standard deviation

—b+./(b* —4ac)

2a

ax’+bx+c=0arex=

a b ¢
sind sinB sinC

b+t —gt
2bc

a'=b"+c"—2bccos A or cos A=

A= —;—ab sinC
V =§‘»m -
V=Xmh
3
vV =14h
Szfzumfy
n—1
51 _(51F
or 5= n__  where i is the sample size.

n—1
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Total marks — 60
Attempt ALL questions

1. Ahousing development is being built.
The price of a house built in 2020 is £250 000.
This price is expected to increase by 4% each year.
Calculate the expected price of a house built in 2022. 3

o « 25 o0 = ¢ e

2. Light travels at 3x10% metres per second.
A star is 4-2x 10" metres away from Earth.

Calculate the number of seconds it takes for light from this star to reach
Earth.

Give your answer in scientific notation. 2

Tz B= S
V3 ¢
B A RNETS = Zx\O

\

- & %\Oq Se (ondS

VIR SRR R -
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3. Factorise fully 3¢ —75. 2

:%(a}faﬁ\
- ’5(0\-%%5(&— 35

4. Intriangle PQR

PR = 11:3 metres
QR = 9-8 mefres
angle QPR = 54°.

¢ 113m R
Calculate the size of acute angle PQR. 3
1 f
o
S\Y\O 6‘“P
L'?)’" = i;’(é’u ' \
(NS AT NN TA
Sl 9 0= 53 (5]
Qs sl 7 WRXSNSH =6%9°

e
N

A ot
K€

L TR0 -
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5.

o
Jp—

The vectors u and v are shown in the diagram below.

Find the resultant vector u—v.

Express your answer in component form.

o) 6
B
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6. A company operates a bus route from the city centre to the airport.

The

(a)

number of passengers on six of its buses on a Monday was

32 27 34 29 31 33

Calculate the mean and standard deviation of the number of passengers.

Mo = 186 = 6 = 21

&

m—

2
Q-
20
A2
2|

Yo

(b)

—

L @D

l \
‘ |

- L \& _ 2L

A
-2 Lt

o ¢ - 2.6\
AN |

= Bh

The mean number of passengers the following Saturday was 28 and the
standard deviation was 3-2.

Make two valid comments comparing the number of passengers on each
bus on Monday and Saturday.

“ ON aRoog ARL oK pGR PASKENORCS

o0 N\cw\c}cuy

- Tha Aoandee ¥ \

TOKRARLS oy o

Consiskenke on Mo f\c\cuﬁ_

AR ELRTIR A
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7. Afishing boat and a yacht left a harbour at the point H.
The fishing boat travelled 3-4 kilometres on a bearing of 047° to the point F.
The yacht travelled 5-7 kilometres on a bearing of 115° to the point Y.

s
w3t

Y

Calculate the distance between the fishing boat at F and the yacht at Y.

\)

O.:L \)L A Q_l - D.\')C CQ)A
W= B rf = QQBCUSA

—_—
—

_ 5% & 3L - Q,ngi’mcg.thcosG‘“é

o= 25
— BDr 2V

AR B RRCRD
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. The diagram shows a sector of a circle, with centre C and
radius 14 centimetres.

Angle ACBis 110°.

C

14 cm @

T

AB splits the sector into the shaded segment and triangle ABC.

Find the area of the shaded segment. 5

WC >
/A\(ﬁa(_‘m(\ = s ¥ T S

= 186- 19 o

' —_ WG+ Stf\\\go
A Caonde = g K

— gy -04 Cur

ot eeo = 15% 1S ~AR 0%

= ngé con
R

N A M -

* X8 47750208 *
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9. Astraight line has equation 3x+4y—-8=0.

(@) Find the gradient of the line.

%14-&:3«% =

th = HL ’\"SS
xi) = _-?—’&1-{—3
/I\
Q radeny
= w

(b) State the coordinates of the point where the line crosses the y-axis.

V-inkeep () = &

(o1 2)

10. Change the subject of the formula d =, /% to /.

al

Bk :QC)\EJL
Q_d\&

W = 3

(RS CARE
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11. The base of an ice cream cone has centre O and radius 4 centimetres.
The length of AB is 14-5 centimetres.

S

14-5 cm

B
Calculate the volume of the cone.
Give your answer correct to 2 significant figures. 5
L
\/ - Jg < \fL .
YA L
_ A X139
= 232.0 ew e P
’ k?' :\Ltvs - Ll-
— 230w (asf) = 1qq_;,15'
- 13.4

L TR BT -
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Express

6x  2x*

y  y+5

, x#0, y#0, y#-5

as a single fraction in its simplest form.

Q)i . f;l}
—_— - L:y\'S

I
3}3
s
_".—
B
At

ARG BT Mw
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13. The two photographs shown are mathematically similar.

12 cm

width

The small photograph has an area of 80 square centimetres, and is

12 centimetres wide.

The large photograph has an area of 500 square centimetres.

Calculate the width of the large photograph.

22Ny Ol hea

N Ao =
) o~
sco = (B) * ¥

o

CO And
e - ()

S5co - =

20 - -

P \J < -
\)\.\) g %O Covx
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14. The diagram shows the part of the blade of a circular saw above a workbench.

workbench

As the blade rotates, the height, # millimetres, of point T above the
workbench is given by

h=57—-85cosx’

where x is the angle the blade has turned anti-clockwise from a starting
position.

(a) Calculate the value of x when point T is first at a height of
115 millimetres above the workbench.

k: 53 — S S
\\Stgq,gscusx
%5 (SSOC = = 5%

o PO
| - 3@)
. = CoS (’ 25

x = 133.0

(b) Calculate the value of x when point T is next at this height.

v
- ~ 137 S1A
260 - 13 c

- 907 e

AR

* X8 47750213 *

page 13

MARKS DO NOT I

WRITE IN
THIS
MARGIN

I

[Turn over



-

15;

The diagram shows a rectangle with breadth x centimetres.

length

The length of the rectangle is 5 centimetres more than its breadth.

(a) Write down an expression for its length in terms of x.

Lgﬂgm = s+ 5

The rectangle has an area of 20 square centimetres.

(b) Show that x* +5x—20=0.

A= L xb

no = (x+38) % X

10 = x>+ 8%

& o= W ASE =20
L +5c 20 = O

TR
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15. (continued)

MARKS

(c) Calculate x, the breadth of the rectangle.

Give your answer correct to one decimal place.

»)CD“ —‘—CEDC - 20 == <

bj—_vﬁuac L
W0 = =

7 on

tl

_Sf\’ S"}ﬁuﬂ\x(-?U),
2 x

\(

_StJ R Rt h

lS ("f‘t'.,g,\’\ \Y\ fannc ¥

\‘s(‘ O (\Chy'i‘dt
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16.

Expand and simplify
cosx’ (tan X +1).

Show your working.
(S (&amc A \
— ¢ 0SX Laroe + (o5

s X

_ co%x(————g'MCB 3 Co5

[2gie

— S + CosX

AR A
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17.

The triangle ABC is shown below

—> —>
AB =uand AC =t.

G is the point such that CG= %CB.

% )
Express AG in terms of u and t.

Give your answer in simplest form.

—
P— (-
cg=-2+5 &
G
_:)CA = -‘LS‘ Lt = -—]_-5[.-{:__—*%,\
—
ph = AL ¥ CG
_ g o+ s(Ere)
_ L -k +34
- 2 £ * A‘SLA
L o [END OF QUESTION PAPER]

TV RRAC IR

* X8 47750217 %

page 17

MARKS

DO NOT I

WRITE IN
THIS
MARGIN




